151

Pre-Roller

Model MRC

Model MRD

model MRE/MRF

model MRG/MRH

model MRJ/MRK/MRL

Mounted on the front of the press. Allows the die

to roll from the front of the press onto the bolster.

® Loading the Die

Load the die with a crane or forklift.

Pre-Rollers set in front of a press machine
enable easy transfer of the die.

® Move the Die to the Bolster
Move the die to the bolster.

Pre-Roller and Die Lifter allow the die to roll

onto the bolster with a minimal force.

Slide| |
Die '
=~
(o= (OB
TO O O O QAT T T ¢ O ® ‘9': °T © ‘9':
o — o
( ° i’ Bolster (
-/ -/

Pre-Roller / |

® The stopper prevents the die from falling.

Stopper

Die Lifter

By pushing the stopper until the end,
the stopper will be released.

Stopper

Pre-Roller ~

T {

Bolster

Released

% When using the stopper,
it must be returned to
the set position manually.

When loading the die, the stopper
is pressed down by the die weight.
Stopper

Die O
(Released)

E@ O
O

N4

After the die passes over the stopper,
it automatically goes up with the
internal spring.

In case of reverse travel, the stopper
prevents the die from falling.

Automatically
goes up!

ﬂ(ﬁf

| ox

4%
O




Pre-Roller Accessories
Overview P.195

© Line-up

Cautions ‘{‘ K.SMEK

P.197 Harmony in Innovation

Clamp + Unit
Operation Panel
Control Unit

Five Types of Frame Storages S

Removable

Model MRC MRC
Pre-Roller

Bolster

Removable /

Vertical
Folding MRD
Pre-Roller
Model MRD
Used when loading / unloading the die
Horizontal
Folding

Model MRE/MRF

<ap
| I— |

Removable "
with Stand
Model MRG

Used when loading / unloading the die.

With stand it is suitable for heavy dies.
Horizontal
Folding

with Stand
Model MRJ/MRK

Used when loading / unloading the die.
With stand it is suitable for heavy dies.

Accessories

Cautions
Company Profile

S . Die Lifter
Can be removed when it is not in use. RO
% While the press machine is operating, .
please remove the pre-roller frame.
RB

Pre-Roller

MRE/MRF

MRJ/MRK

Can be removed or folded when it is not in use.
% While the press machine is operating,
please remove or fold the pre-roller frame.

Can be folded horizontally when it is not in use.
% While the press machine is operating,
please fold the pre-roller frame.

MRG Pre-Roller
MRH Stand

Can be removed when it is not in use.
% While the press machine is operating,
please remove the pre-roller frame.

Can be folded horizontally when it is not in use.
% While the press machine is operating, please keep

the stand off the floor and fold the pre-roller frame. 159



Pre-Roller Removable Model model MRC

@ Model No. Indication

MR C 119 0 - 630

1 B8 o

[l Frame Storage Method

C : Removable P.153
D : Removable-Vertical Folding P.163 C
E : Horizontal Folding (Inside Arm) P.173
F : Horizontal Folding (Outside Arm) P.173
G : Removable (with Stand) P.181
J . Horizontal Folding (with Stand) (Inside Arm) P.189
K : Horizontal Folding (with Stand) (Outside Arm) P.189

Mounting Block Height (Pre-Roller Height)

075 : Mounting Block Height 75 mm
119 : Mounting Block Height 119 mm /
150 : Mounting Block Height 150 mm | J i
190 : Mounting Block Height 190 mm j

Mounting Block
Height

Mounting Block

Design No.

0 : Revision Number

IZ] Die Travel L - Mounting Block Model No.

Dimensions : Die Travel L (Distance that the die can be pulled out) Die Travel to Stop L

(Please refer to the specifications) [ 1 Removable
f Pre-Roller

] ) O O \OII'\
B : Mounting Block S ”/ S 2ﬁ
& —
Mounting Block

@ Compatible Mounting Blocks

Pre-Roller Model No. Mounting Block Model No. Mounting Block Weight (kg)
MRC0750-[] MRCO0750-B 1.2
MRC1190-(J MRC1190-B 34
MRC1500-(] MRC1500-B 4.6
MRC1900-[] MRC1900-B 6.9

Note:
1. MRC Pre-Roller and MRC-B Mounting Block are sold separately.
Order by the model number and the quantity of each product.

153



Pre-Roller
Overview P.151

@ Specifications

Model No. /
Specifications

MRC0750

External Dimensions
MRC1190 MRC1500

MRC1900

Accessories
P.195

Cautions
P.197

([ K@SMEK

Harmony in Innovation

Clamp + Unit

) MRCO750_D Operation Panel
Die Travel to Sto Max. Loading Weight each (kg)*' o
Model No. Weight (kg) Number of Rollers '€ L (mm) P at.Roller A a2t Point B Rl
MRC0750-200 3.0 3 200 850 1020 FIEONSE
MRC0750-250 35 3 250 650 800
MRC0750-315 43 4 315 500 620 Accessories
MRC0750-355 4.8 4 355 450 560
MRC0750-400 53 5 400 400 500 T
MRC0750-450 5.8 5 450 350 440 Company Profile
MRC0750-500 6.4 6 500 300 380
MRC0750-560 7.1 6 560 270 340
MRC0750-630 8.0 7 630 240 310 Die Lifter
RQA
® MRC1190- RA
Model No. Weight (kg) Number of Rollers R TT\(/rilr;? S Ma;:;gii‘:ﬂ Welgh;:icohir(hgé e
MRC1190-315 6.7 3 315 1500 1840
MRC1190-355 7.6 4 355 1300 1610 MRC
MRC1190-400 8.4 4 400 1100 1370 MRD
MRC1190-450 9.4 5 450 950 1190 MRE/MRF
MRC1190-500 10.3 5 500 800 1010 MRG
MRC1190-560 1.3 6 560 700 890 MRJ/MRK
MRC1190-630 124 6 630 650 830
MRC1190-710 14.0 7 710 500 640
MRC1190-800 15.5 7 800 450 580
MRC1190-850 16.5 8 850 400 510
MRC1190-900 17.5 8 900 350 450
MRC1190-950 18.6 9 950 300 380
MRC1190-1000 19.5 9 1000 250 320
® MRC1500-
Model No. Weight (kg) Number of Rollers R szﬁr;? S Mzt'lézﬁilri Welgh;:icc:r(‘igé
MRC1500-400 9.9 4 400 1500 1870
MRC1500-450 11.2 5 450 1350 1700
MRC1500-500 123 5 500 1200 1520
MRC1500-560 134 6 560 1050 1330
MRC1500-630 14.8 6 630 900 1150
MRC1500-710 16.8 7 710 800 1020
MRC1500-800 18.7 7 800 700 900
MRC1500-850 20.0 8 850 600 770
MRC1500-900 21.1 8 900 550 710
MRC1500-950 224 9 950 500 640
MRC1500-1000 23.5 9 1000 450 580
® MRC1900-]
Model No. Weight (kg) Number of Rollers Die Trlji\(/rilr;c)) Stop Mz:;. Iég?g:ﬁ Welgh;tez;cc)f:rgligB)
MRC1900-400 11.9 4 400 2000 2500
MRC1900-450 134 5 450 1800 2260
MRC1900-500 14.8 5 500 1600 2020
MRC1900-560 15.9 6 560 1400 1780
MRC1900-630 17.8 6 630 1250 1600
MRC1900-710 20.2 7 710 1100 1410
MRC1900-800 226 7 800 950 1220
MRC1900-850 24.2 8 850 850 1100
MRC1900-900 25.6 8 900 800 1030
MRC1900-950 27.2 9 950 750 970
MRC1900-1000 28.6 9 1000 700 910
Note: _Die Travel to Stop L Roller A _Die Travel to Stop L . Point B
% 1. Maximum loading weight per pre-roller. " ‘J/ " s
at Roller A : When load extends to Roller A. O RO O BT
at Point B : When load extends to distance L/4 ;¥ / = =0 ;¥ /& °
" o] i D o]
from stopper. J //’ //"_
] 1 L/4

154



155

Pre-Roller Removable Model

model MRCO0750

@ External Dimensions : Removable Pre-Roller (MRC0750-[])

L=200%" |40

20.5
38.5

45 68 68 B (Front End)

MRC0750-200

290
L=250%1 _ |40
45 93 93

-

MRC0750-315

395

L=355%1

40

4597 97 _ 97

MRC0750-355

440

L=400%1

40

45 84 84 84 84

MRC0750-400

Note:
¥ 1. It shows the die travel L.

Stopper
wn
96 I
"0 @
ONe
View A Enlarged View of B (Front End)
490
L=450*1 . 140

MRC0750-450

540
L=500%1 |40
45 87 87 87 8 _ 88

MRC0750-560

670
L=630%1 |40
4594 94 94 94 __94 9%

MRC0750-630



Pre-Roller Model No. / External Dimensions Accessories Cautions ‘{‘ K.SMEK

Overview P.151 Speciﬁcations MRCO0750 MRC1190 MRC1500 MRC1900 P.195 P.197 Harmony in Innovation

. . . .. . . . Clamp - Unit
@ External Dimensions : @ Machining Dimensions : O::::tionnllanel
. . Control Uni
Mounting Block (MRC0750-B) Block Mounting Area entrel ot
2
-Hexagonal Socket Pre-Roll
. 46.5 40.5 Head Bolt (Included) %_MLZ;;]]S Thread 70 —
EY; M12X1.75X55 epth <o or more N
‘ «? ‘ With Square Spring Washer >'<_ Accessories
- F o 1 ‘ o
o - | | [e—=
! E = /,@ T & 0y Cautions
- 2-Spring Pin (Included) 2-8 Drill Depth 15 or more Company Profile
9 $8X45 (Drill after Aligning Parts)
Level Adjusting Shim 83
(Included) Die Lifter
(mm) RQA
Die Lifter . RA
Dimension T*2
Model No. Lift-Up Stroke R
RA018/022 15 13.5
RA028/050
RQA028/050 2 13 MRD
RQC030/040/051 MRE/MRF
MRG

Note:
%2. Dimension T should be processed according to Die Lifter
which is used with the block.

MRJ/MRK

156



157

Pre-Roller Removable Model

model MRC1190

@ External Dimensions : Removable Pre-Roller (MRC1190-[1)

EEH-F%H—!H@ i

o~

47

45
59.5

355
L=315%1 | |40
65, 113, 112,

B (Front End)

o o

— | MRC1190-315

395
L=355%1 40

65,89 88 88
4 4 4 \60

| (o] o) o)

1 MRC1190-355

440 ‘
L=400%1 |40

65,104, 104,102,

j MRC1190-400

490
[=450%1 | 40
65,90, 90 , 90, 90

j MRC1190-450

540
L=500%" . 140
65,103,103, 103, 101

_l
— | MRC1190-500

Note:
¥ 1. It shows the die travel L.

o
O o

600
L=560%" 40

j MRC1190-560

670
L=630%1 |40
65, 108_ 108_ 108, 108 108

j MRC1190-630

750
L=710%1 140
65,104 104, 104, 104, 104100,

j MRC1190-710

840

L=800*1

Stopper

Enlarged View of B (Front End)

40

65 119 119 119 _ 119 119 115

j MRC1190-800

890

L=850%1

, 140

65,109_109_109, 109, 109, 109, 106,

j MRC1190-850



Pre-Roller Model No. / External Dimensions Accessories Cautions ‘{‘ K.SMEK

Overview P.151 Specifications | mrco750 | MRC1190 | MRC1500 | MRC1900 P.195 P.197 Harmony in Innovation

. . . .. . . . Clamp - Unit
@ External Dimensions : @ Machining Dimensions : Oszztionnl:anel
. . Control Uni
Mounting Block (MRC1190-B) Block Mounting Area ertre ot
Die Lifter
4-Hexagonal Socket 4-M12X1.75 Thread Pre-Roller
59.5 49 Head Bolt (Included) Depth 25 or more 80
45 M12X1.75X70 o~ )
With Square Spring Washer ,X_ Accessories
7 32 70\7 & ‘ K2 N":‘
: F, > T sl Cautions
7‘ 2-Spring Pin (Included) 2-10 Drill Depth 15 or more/ Company Profile
— $10X56 (Drill after Aligning Parts)
Level Adjusting Shim 98
(Included) Die Lifter
(mm) RQA
Die Lifte . RA
e : f Dimension T*2 RB
Model No. Lift-Up Stroke
RA018/022 15 13.5
RA028/050 TG
RQA028/050 2 13 MRD
RQC030/040/051 MRE/MRF
MRG
Note: _—
MRJ/MRK

%2. Dimension T should be processed according to Die Lifter
which is used with the block.

940 ‘
L=900%1 | 40
| MRC1190-900
990
L=950%1 140

65,108 108, 108 , 108 , 108 , 108 108 104

j MRC1190-950

1040
L=1000*1 40

j MRC1190-1000

158



Pre-Roller Removable Model model MRC1500

External Dimensions : Removable Pre-Roller (MRC1500-[1)
© Stopper
115 K
‘ S
= | . O ©
T I o
= % i = O o
A5 View A Enlarged View of B (Front End
595 iew nlarged View of B (Front End)
440 750
L=400*1 40 L=710%1 . 140
65,104,103 ,103, B (Front End) 65,104 ,104,104,104,104,100,
A
<
T )
MRC1500-400 MRC1500-710
490 840
L=450%] |40 L=800*" . 140
65,9090 90 90 65119119119119119 115
T )
MRC1500-450 MRC1500-800
540 890
L=500%1 . 40 L=850%] 40
65,109,.109_,.109_,.109 109 109 106

65103103103101 ‘ ‘ ‘ ‘ ‘

1 T
MRC1500-500 MRC1500-850

600 940
L=560%1 140 L=900*! 140
65 94 94 94 94 94 65 116, 116 __116_ 116__116__116__114
o
1
MRC1500-900
990
L=630*" 40 L=950*1 40
65,108 108 108 108 108 65,108 108 108 108 108 108 108__104

1
MRC1500-950

T
MRC1500-630

Note:
% 1. It shows the die travel L.

159



Pre-Roller Model No. / External Dimensions Accessories Cautions ‘{‘ K.SMEK

Overview P.151 Specifications MRCO0750 MRC1190 MRC1500 MRC1900 P.195 P.197 Harmony in Innovation

. . . P .. . . . a + Unit
@ External Dimensions : @ Machining Dimensions : O::::tionnllanel
. . Control Uni
Mounting Block (MRC1500-B) Block Mounting Area ertre o
Die Lifter
4-Hexagonal Socket 4-M12X1.75 Thread 80 Pre-Roller
59.5 49 Head Bolt (Included) Depth 25 or more
45 M12X1.75X70 o~
] With Square Spring Washer >|<_ prcessolEs
< i 1| [¢ ~
o . o~
2 A L}—‘ ¢ m Cautions
¢ i Company Profile
T 2-Spring Pin (Included) 2-10 Drill Depth 15 or more ‘ 98
$10X56 (Drill after Aligning Parts) |
Level Adjusting Shim Die Lift
(Included) e
(mm) RQA
Die Lifter . RA
Dimension T*2
Model No. Lift-Up Stroke R
RA018/022 15 13.5
RA028/050
RQA028/050 2 13 MRD
RQC030/040/051 MRE/MRF
Note: e
%2. Dimension T should be processed according to Die Lifter MRIIMRKC
which is used with the block.
1040
L=1000*1 40

-1
MRC1500-1000

160



161

Pre-Roller Removable Model

model MRC1900

@ External Dimensions : Removable Pre-Roller (MRC1900-[1)

s o Stopper
‘ O ©
ISR NS R

= Az ©o
i

50 ow A ) B

64.5 View Enlarged View of B (Front End)

440 750
L=400%1 . 140 L=710%*1 . 140

70,102,102, 101, B (Front End) 70,103,103 ,103,103,103, 100,

N i
MRC1900-400 MRC1900-710

0~15 || - 0~15 || -
490 840
L=450%1 |40 L=800%1 40
70, 89_ 89 89 88 70, 118 118 118 118 118 , 115
i i
0~15 || - 0~15 || -
540 890
L=500%1 40 L=850%1 40

70,101 101,101,102,

70,108 108 108 108 108 108 107

i i
MRC1900-500 MRC1900-850
5 0~15

0~15 || - I
600 940
L=560%*1 . 140 L=900*1 . 140
70,93 93 93,93 93 70,115 115 115,115,115, 115 115
= oo
— ) )
7{5.. o o o o ) [
i i
MRC1900-560 MRC1900-900
0~15 || - 0~15 || -
670 990
=630 . 140 L=950%*1 . 140
70,107_,107,107_107_,107 70,107,107 ‘ 107 ‘ 107 ‘ 107 ‘ 107 ‘ 107,106 ‘
& i @ O @ )
Fe] oo
— ) )
7?.. o o o o o o
o i
MRC1900-630 MRC1900-950
0~15 0~15

< <

Note:
¥ 1. It shows the die travel L.



Pre-Roller Model No. / External Dimensions Accessories Cautions ‘{‘ K.SMEK

Overview P.151 Specifications | mrco750 | MRC1190 | MRC1500 | MRC1900 P.195 P.197 Harmony in Innovation

Clamp + Unit

@ External Dimensions : @ Machining Dimensions : Operation Panel
. N C | Uni
Mounting Block (MRC1900-B) Block Mounting Area i
6-Hexagonal Socket g::_';:t"ee'r
Head Bolt (Included) 6-M12X1.75 Thread

M12X1.75X75 80 _ Depth 25 or more

64.5 49 With Square Spring Washer 2 T
50 2-Spring Pin (Included) R '_7 e\ ‘
$10x63 ¢lolg o
o < <y & L,LJ & Cautions
et = g & i Company Profile
R o1
‘—g S L 98 | 2-10 Drill Depth 15 or more
) @ 7@ **** —  (Drill after Aligning Parts) Die Lifter
Push Bolt Level Adjusting Shim RQA
(M16X2) (Included) ‘ 86 Push Bolt Position™> RA
(M16x2) ke
(mm)
Die Lifter . MRG
Dimension T*2
Model No. Lift-Up Stroke MRD
MRE/MRF
RA018/022 15 125 S
RA028/050 TMRIUMRK
RQA028/050 2 12
RQC030/040/051
Notes :
%2. Dimension T should be processed according to Die Lifter
which is used with the block.
%3. Use a push bolt when the bolster thickness is 160mm or less.
1040
L=1000*1 40

i
MRC1900-1000
15

<

162



163

Pre-Roller Removable - Vertical Folding Model

@ Model No. Indication

MR D 119 0 - 630

B8 o

[l Frame Storage Method

model MRD

. Removable

. Removable-Vertical Folding

. Horizontal Folding (Inside Arm)

. Removable (with Stand)

. Horizontal Folding (Outside Arm)

AR - oM m Qo N

Mounting Block Height (Pre-Roller Height)

P.153

P.163

P.173

P.173

P.181

. Horizontal Folding (with Stand) (Inside Arm) P.189
. Horizontal Folding (with Stand) (Outside Arm) P.189

075 : Mounting Block Height 75 mm
119 : Mounting Block Height 119 mm
150 : Mounting Block Height 150 mm
190 : Mounting Block Height 190 mm

Design No.

Mounting Block
Height

0 : Revision Number

IZ] Die Travel L - Mounting Block Model No.

Dimensions : Die Travel L (Distance that the die can be pulled out)

(Please refer to the specifications)

B - Mounting Block

@ Compatible Mounting Blocks

Die Travel to Stop L

Removable-

\’:

Vertical Folding

nj}

;
Oo
L\O_J-L O/// o O

|
Mounting Block

Pre-Roller Model No. Mounting Block Model No. Mounting Block Weight (kg)
MRD0750-[] MRD0750-B 1.7
MRD1190-[] MRD1190-B 5.0
MRD1500-[] MRD1500-B 6.0
MRD1900-[] MRD1900-B 83

Note:

1. MRD Pre-Roller and MRD-B Mounting Block are sold separately.
Order by the model number and the quantity of each product.



Pre-Roller
Overview P.151

@ Specifications

Model No. /
Specifications

MRDO0750

External Dimensions
MRD1190 | MRD1500

MRD1900

Accessories
P.195

Cautions
P.197

([ K@SMEK

Harmony in Innovation

Clamp + Unit

) MRD0750_D Operation Panel
Die Travel to Sto Max. Loading Weight each (kg)*' o
Model No. Weight (kg) Number of Rollers '€ T\(/rim) P at.Roller A a2t Point B Rl
MRD0750-200 3.0 3 200 850 1020 FIEONSE
MRD0750-250 35 3 250 650 800
MRD0750-315 43 4 315 500 620 Accessories
MRD0750-355 4.8 4 355 450 560
MRD0750-400 53 5 400 400 500 T
MRDO0750-450 5.8 5 450 350 440 Company Profile
MRD0750-500 6.4 6 500 300 380
MRD0750-560 7.1 6 560 270 340
MRD0750-630 8.0 7 630 240 310 Die Lifter
RQA
® MRD1190-] RA
Model No. Weight (kg) Number of Rollers R TT\(ﬁlr;? S Ma;:;gii‘:ﬂ Welgh;:icohir(hgé e
MRD1190-315 6.7 3 315 1500 1840
MRD1190-355 7.6 4 355 1300 1610 MRC
MRD1190-400 8.4 4 400 1100 1370 [ MRD
MRD1190-450 9.4 5 450 950 1190 MRE/MRF
MRD1190-500 10.3 5 500 800 1010 MRG
MRD1190-560 1.3 6 560 700 890 MRJ/MRK
MRD1190-630 124 6 630 650 830
MRD1190-710 14.0 7 710 500 640
MRD1190-800 15.5 7 800 450 580
MRD1190-850 16.5 8 850 400 510
MRD1190-900 17.5 8 900 350 450
MRD1190-950 18.6 9 950 300 380
MRD1190-1000 19.5 9 1000 250 320
® MRD1500-[]
Model No. Weight (kg) Number of Rollers R szﬁr;? S Mzt'lézﬁilri Welgh;:ic(;r(igé
MRD1500-400 9.9 4 400 1500 1870
MRD1500-450 11.2 5 450 1350 1700
MRD1500-500 12.3 5 500 1200 1520
MRD1500-560 13.4 6 560 1050 1330
MRD1500-630 14.8 6 630 900 1150
MRD1500-710 16.8 7 710 800 1020
MRD1500-800 18.7 7 800 700 900
MRD1500-850 20.0 8 850 600 770
MRD1500-900 21.1 8 900 550 710
MRD1500-950 224 9 950 500 640
MRD1500-1000 23.5 9 1000 450 580
® MRD1900-]
Model No. Weight (kg) Number of Rollers Die Trlji\(/rilr:)) Stop Mz:;. Iég?g:ﬁ Welgh;tez;cc)f:rgligB)
MRD1900-400 11.9 4 400 2000 2500
MRD1900-450 13.4 5 450 1800 2260
MRD1900-500 14.8 5 500 1600 2020
MRD1900-560 15.9 6 560 1400 1780
MRD1900-630 17.8 6 630 1250 1600
MRD1900-710 20.2 7 710 1100 1410
MRD1900-800 226 7 800 950 1220
MRD1900-850 24.2 8 850 850 1100
MRD1900-900 25.6 8 900 800 1030
MRD1900-950 27.2 9 950 750 970
MRD1900-1000 28.6 9 1000 700 910
N::tfiM oad ) | Die Travel to Stop L Roller A Die Travel to Stop L Point B
% 1. Maximum loading weight per pre-roller.
at Roller A :When load extends to Roller A. " Do o@,‘/ o) ag;.lj " DO oagy” ‘ LT
at Point B : When load extends to distance L/4 5 oo 5 do
from stopper. l‘O-J_L @ //’ @ & @ //’ @
| . L/4

164



165

Pre-Roller Removable - Vertical Folding Model

model MRDO0750

© External Dimensions : Removable - Vertical Folding Pre-Roller (MRD0750-[])

240
L=200%"_ 140

38.5

45 68_68_ B (Front End)

40

MRD0750-250

355
L=315%]

45 84 84 83

MRDO0750-315

395

L=355%1

45 97 97 _ 97

MRD0750-400

Note:
¥ 1. It shows the die travel L.

Stopper
wn
9 L B
O @
O o0
View A Enlarged View of B (Front End)
490
L=450%1 |40
45 96 96 96 _ 98
540
L=500*" (40
MRD0750-500
600
L=560%1 140
4599 99 99 99 100
MRD0750-560
670
=630 40

45 94 94 94 94 94 _ 96

MRD0750-630



Model No. /
Specifications

Pre-Roller

Overview P.151 MRD1190

MRDO0750

@ External Dimensions :
Mounting Block (MRD0750-B)

2-Hexagonal Socket

40.5 Head Bolt (Included)

95.5

External Dimensions
MRD1500

32| 635 M12X1.75X55

With Square Spring Washer

n
~

3(_;:::: —
42

2-Spring Pin (Included)
$8X45
Level Adjusting Shim
(Included)

@ Dimensions when Folded

Approx.120

Cautions
P.197

Accessories

MRD1900 P.195

@ Machining Dimensions :
Block Mounting Area

2-M12X1.75 Thread
Depth 25 or more

A

139] | T%2

L‘T‘
2-8 Drill Depth 15 or more A
(Drill after Aligning Parts)

83
(mm)
ie Lif .
Die Li t.e-r Dimension T*2

Model No. Lift-Up Stroke

RA018/022 15 135

RA028/050

RQA028/050 2 13
RQC030/040/051
Note:

%2. Dimension T should be processed according to Die Lifter
which is used with the block.

([ K@SMEK

Harmony in Innovation

Clamp + Unit
Operation Panel
Control Unit

Die Lifter
Pre-Roller

Accessories

Cautions
Company Profile

Die Lifter

Pre-Roller

MRC
MRE/MRF
MRG
MRJ/MRK

166



167

Pre-Roller Removable - Vertical Folding Model

model MRD1190

© External Dimensions : Removable - Vertical Folding Pre-Roller (MRD1190-[])

i
45 97

355
L=315%1 |40
65 113,112 B (Front End)

j MRD1190-315

395
L=355%1 |40
65,89 , 88 88

j MRD1190-355

440
L=400%1 |40
65,104 104,102,

j MRD1190-400

490
[=450%1 |40
65,90, 90 , 90 , 90

j MRD1190-450

540
L=500%1 |40
65,103, 103,103,101

j MRD1190-500

Note:
¥ 1. It shows the die travel L.

Stopper

O ©

O o
View A Enlarged View of B (Front End)
600
L=560*1 40

j MRD1190-560

670

L=630*1

. 140

65,108 108 108 108_ 108

j MRD1190-630

750

L=710%*]

65,104,104 104,104,104 , 100

j MRD1190-710

840

L=800%*1

40

|
65,119 119,119,119, 119 _115

j MRD1190-800

890

L=850%1

40

65,109, 109,109, 109 109,

|
109 106
(o)

j MRD1190-850



Cautions
P.197

Accessories
P.195

External Dimensions
MRD1190 | MRD1500

Model No. /
Specifications

Pre-Roller
Overview P.151

(Y xKeSMEK

Harmony in Innovation

MRD1900

MRDO0750

Clamp + Unit
Operation Panel
Control Unit

Die Lifter
Pre-Roller
80

@ Machining Dimensions :
Block Mounting Area

@ External Dimensions :
Mounting Block (MRD1190-B)

4-Hexagonal Socket
4-M12X1.75 Thread

142 49 Head Bolt (Included)
45] 97 M12X1.75X70 Depth 25 or more o
I With Square Spring Washer — Accessories
= 2 g o M E—
_\_J_L - 4 T 0 Cautions
T - 2-Spring Pin (Included) 2-10 Drill Depth 15 or more/ Company Profile
— $10X56 (Drill after Aligning Parts)
Level Adjusting Shim 98
(Included) Die Lifter
(mm) RQA
@ Dimensions when Folded Die Lifter ) o RA
: Dimension T* RB
Approx.180 Model No. Lift-Up Stroke
RA018/022 15 13.5
RA028/050 P
MRC
RQA028/050 2 13 [ mrRD
RQC030/040/051 MRE/MRF
MRG
Note: I
MRJ/MRK

%2. Dimension T should be processed according to Die Lifter
which is used with the block.

940
L=900%*1 40

j MRD1190-900

990
L=950*"
65,108,108, 108, 108 108 108 108 104

, 140

j MRD1190-950

1040
L=1000%1 40

j MRD1190-1000

168



Pre-Roller Removable - Vertical Folding Model model MRD1500

© External Dimensions : Removable - Vertical Folding Pre-Roller (MRD1500-[])

Stopper
115 )
: & -~ ol j¢ O O
‘ 1
45 117 I . (B
162 Enlarged View of B (Front End)
440 750
L=400%1 . 140 L=710%*1 . 140
65,104,103, 103 B (Front End) 65,104 ,104,104,104,104 100
A
-

T 7
MRD1500-400 MRD1500-710

490 840
L=450%1 . 140 =800 %1 40
65,90 .90 , 90, 90

1 T
MRD1500-450 MRD1500-800

540 890
L=500%*1 40 L=850*1 40

65,103 103103101 65,109, 109,109, 109, 109 109 106,

1 T
MRD1500-500 MRD1500-850

600 940
L=560*" , 140 =900 40
65,94 . 94 94, 94 94

1
MRD1500-900

990
L=9501 . 140
65,108, 108108, 108108, 108 108_ 104

-1 T
MRD1500-630 MRD1500-950

Note:
¥ 1. It shows the die travel L.

169



Pre-Roller Model No. / External Dimensions Accessories Cautions ‘{‘ K.SMEK

Overview P.151 Specifications | mrDo750 | MRD1190 | MRD1500 | MRD1900 P.195 P.197 Harmony in Innovation

H . . .. . . . Clamp + Unit
@ External Dimensions : @ Machining Dimensions : Operation Panel
. . Control Uni
Mounting Block (MRD1500-B) Block Mounting Area ertre ot
Die Lifter
4-Hexagonal Socket 80 Pre-Roller
162 49 Head Bolt (Included) 4-M12X1.75 Thread
45] 117 M12X1.75%70 Depth 25 or more o
[ With Square Spring Washer >,<_ Accessories
= o0 - 1 \ o t
B n o P BN
_JL 2 A L‘—‘ ¢ m Cautions
v i Company Profile
] 2-Spring Pin (Included) 2-10 Drill Depth 15 or more/T 98
- $10X56 (Drill after Aligning Parts) |
Level Adjusting Shim Die Lifter
(Included) (mm) ROA
@ Dimensions when Folded Die Lifter T A
- Dimension T* RB
Model No. Lift-Up Stroke
Approx.215
RA018/022 15 13.5
RA028/050 T MRc
RQA028/050 2 13 [ mrRD
s RQC030/040/051 MRE/MRF
wn
5 Note: MEG7R
% %2. Dimension T should be processed according to Die Lifter MRIIMRKC
It which is used with the block.
<
1040
L=1000%*1 40

-1
MRD1500-1000

170



Pre-Roller Removable - Vertical Folding Model model MRD1900

© External Dimensions : Removable - Vertical Folding Pre-Roller (MRD1900-[])

115 . Stopper
_ O ©
fEssyEmEsaeees) ,ﬂ‘ ’
m— B O 0o
|
30, 17 Enlarged View of B (Front End)
167
440 750
L=400*1 . 140 L=710*1 . 140
70,102,102 101, B (Front End) 70,103,103,103,103,103,100
A B o o0 & o © Do
-~ s Oo

E_ | o o o o

i i
MRD1900-400 MRD1900-710
0~15 || 0~15 || !
490 840
L=450%"1 40 L=800%! 40

70,8989 89 88

70,118,118 118 118,118 115

oo

E= - -
} J o o o o

] ]
MRD1900-450 MRD1900-800
0~15 0~15

< <

540 890
L=500%1 . 140 L=850*" 40
70,101,101,101, 102 70,108 108108, 108 , 108 108 107

= iy B By B B S X
.

. .
MRD1900-500 MRD1900-850
0~15 0~15

< <

600 940
L=560*" 40 L=900*1 40

- i
MRD1900-560 MRD1900-900
0~15 0~15

< <

670 990
L=630%1 . 140 L=9501 40
70,107,107, 107, 107_, 107 70,107,107 107,107 107,107 107 106

|
N

V' O
Oo

s
} j o o o o o

i i
MRD1900-630 MRD1900-950
0~15 0~15

< <

Note:
¥ 1. It shows the die travel L.

171



Pre-Roller Model No. / External Dimensions Accessories Cautions ‘{‘ K.SMEK

Overview P.151 Specifications | mrDo750 | MRD1190 | MRD1500 | MRD1900 P.195 P.197 Harmony in Innovation

. . . .. . . . Clamp * Unit
@ External Dimensions : @ Machining Dimensions : Oszztionnllanel

Mounting Block (MRD1900-B) Block Mounting Area Control Unit

6-Hexagonal Socket 6-M12X1.75 Thread
167 ﬁ Head Bolt (Included) 80 _ Depth 25 or more

50 117 M12X1.75X75
1 4

%3
T>I<2

T With Square Spring Washer é s ! ‘ | Accessories
— o — 2N el e
1 b N o | 2 &
Y xS = oS Cautions
= ﬂ - o} ﬁ . Company Profile
ﬁ—_ | 213 98 | 2-10 Drill Depth 15 or more
|| 2-Spring Pin (Included) e (Drill after Aligning Parts)
$10x63 .
Level Adjusting Shim ‘ ‘ g Die Lifter
(Included) L 8 | Push Bolt Position™ RQA
(M16X2) RA
@ Dimensions when Folded (mm) RB
Approx. 260 Die Lifter Dimension T%2
Model No. Lift-Up Stroke  wRe
RA018/022 15 125 ﬁ
RA028/050 MRE/MRF
n RQA028/050 2 12 MRG
w _—
+ RQC030/040/051 MRJ/MRK
§ Notes :
§ %2. Dimension T should be processed according to Die Lifter
which is used with the block.
%3. Use a push bolt when the bolster thickness is 160mm or less.
1040
L=1000*1 40

i
MRD1900-1000
0~15 || !

172



Pre-Roller Horizontal Folding Model model MRE/MRF

@ Model No. Indication

MR E 119 0 - 630

1 B8 o

[l Frame Storage Method

C : Removable P.163
D : Removable-Vertical Folding P.163
E : Horizontal Folding (Inside Arm) P.173
F : Horizontal Folding (Outside Arm) P.173
G : Removable (with Stand) P.181
J . Horizontal Folding (with Stand) (Inside Arm) P.189
K : Horizontal Folding (with Stand) (Outside Arm) P.189

Mounting Part Height (Pre-Roller Height)

119 : Mounting Part Height 119 mm QL e E -::C‘T
=T

190 : Mounting Part Height 190 mm D g?—f@
295 : Mounting Part Height 295 mm [~ Ho % * %
i = &

Design No.

0 : Revision Number

[/] Die Travel L
Dimensions : Die Travel L T Die Travel to Stop L B
(Distance that the die can be pulled out) o
(Please refer to the specifications) CD
m0)
i

@ Folding Method

o— T THES

" Lock Pin
Releasing Lever

e e 0 I
5 iy

@ Pull the Lock Pin Releasing Lever L @ Fold the Roller Arm )

% Can be folded to the other side as well.

173



Pre-Roller Model No. / External Dimensions Accessories Cautions ‘{‘ K.SMEK

Overview P.151 Specifications MRE/MRF1190 | MRE/MRF1900 | MRE/MRF2950 P.195 P.197 Harmony in Innovation

© Specifications Onereion panel
© MRE/MRF1190-(] Control Unt
MRE MRF Die Travel to Stop Max. Loading Weight each (kg)*1 Die Lifter
Model Weight (kg) | No. of Rollers Model Weight (kg) | No. of Rollers L (mm) at Roller A at Point B Pre-Roller
MRE1190-315 11.3 3 MRF1190-315 12.5 3 315 1500 1840
MRE1190-355 12.1 3 MRF1190-355 133 4 355 1400 1730 Accessories
MRE1190-400 13.0 4 MRF1190-400 14.1 4 400 1200 1500
MRE1190-450 13.8 4 MRF1190-450 15.2 5 450 1000 1250 T
MRE1190-500 14.9 5 MRF1190-500 16.1 5 500 850 1070 Company Profile
MRE1190-560 15.5 5 MRF1190-560 16.9 6 560 750 950
MRE1190-630 17.0 6 MRF1190-630 18.1 6 630 650 830
MRE1190-710 183 6 MRF1190-710 19.6 7 710 550 700 Die Lifter
RQA
® MRE/MRF1900-[] RA
MRE MRF Die Travel to Stop Max. Loading Weight each (kg)*1 RB
Model Weight (kg) | No. of Rollers Model Weight (kg) | No. of Rollers L (mm) at Roller A at Point B
MRE1900-500 23.1 5 MRF1900-500 254 5 500 1600 2020
MRE1900-560 243 5 MRF1900-560 26.5 6 560 1400 1780 MRC
MRE1900-630 26.4 6 MRF1900-630 28.6 6 630 1250 1600 MRD
MRE1900-710 285 6 MRF1900-710 308 7 710 1100 1410
MRE1900-800 313 7 MRF1900-800 336 8 800 950 1220 MRG
MRE1900-850 328 8 MRF1900-850 349 8 850 850 1100 MRJ/MRK
MRE1900-900 34.1 8 MRF1900-900 364 9 900 800 1030
MRE1900-950 358 9 MRF1900-950 378 9 950 750 970
MRE1900-1000 37.1 9 MRF1900-1000 39.1 9 1000 700 910
® MRE/MRF2950-[]
MRE MRF Die Travel to Stop Max. Loading Weight each (kg)*!
Model Weight (kg) | No. of Rollers Model Weight (kg) | No. of Rollers L (mm) at Roller A at Point B
MRE2950-630 346 6 MRF2950-630 39.6 6 630 2000 2560
MRE2950-710 36.4 6 MRF2950-710 413 7 710 1750 2250
MRE2950-800 386 7 MRF2950-800 435 8 800 1500 1930
MRE2950-850 40.0 8 MRF2950-850 448 8 850 1400 1810
MRE2950-900 41.1 8 MRF2950-900 459 9 900 1300 1680
MRE2950-950 424 9 MRF2950-950 47.2 9 950 1200 1550
MRE2950-1000 444 9 MRF2950-1000 483 9 1000 1100 1430
Note:
% 1. Maximum loading weight per pre-roller.
at Roller A : When load extends to Roller A.
at Point B : When load extends to distance L/4 from stopper.
Die Travel to Stop L Roller A 5 Die Travel to Stop L , PointB
I , I .
100 o0 © / o o9 oo © /%19)_ ()
a a
‘F Ho o”// o o ‘F Ho o”// Q o
— — L/4

174



Pre-Roller Horizontal Folding Model model MRE/MRF1190

© External Dimensions : Horizontal Folding 4-Hexagonal Socket
_ _ Head Bolt (Included)
Pre-Roller (MRE/MRF1190-[]) V12517535 Stopper
With Square @
! ,’2*: Spring Washer i ——
o a ';
i Push Bolt ‘ 115 ‘ 2-Spring Pin O O
25 (M16X2) $10X36
View A Enlarged View of B (Front End)
(Same for both MRE and MRF)
355 355
L=315%1 _ |40 L=315%1 _ 140
B (Front End) 50| 143 97
A TER IO oF o)
- |, e
B /10 o
Lock Pin Releasing Lever —
MRF1190-315
0~15 1| -
395 395
L=355%1 |40 L=355%1 . |40
133,99 , 98 50 , 143 .69.68
O% % OF o) TTERLIO% ¥ oF o)
(o)} (o)}
_ela, e Y e
1| | MRE1190-355 1| | MRF1190-355
0~15 || - 0~15 || -
440 440
L=400%1 |40 L=400%1 |40
133 _ 818180 50 143 9191
TI0® o & OF o) TTE® L]Om?
F [oX] Oo
= ]O CD o o B =10 @O )
1| | MRE1190-400 | | MRF1190-400
0~15 | 0~15 1| -
490 490
L=450%] . 40 L=450%1 . 140
133989797 50 143 77,7778
1| | MRE1190-450 1| | MRF1190-450
0~15 || - 0~15 || -
540 540
L=500%1 . 140 L=500%1 . 140
133 86 86_ 86__84 50 . 143 _ 94 94_ 94
[ Q@ Qo @ @ o9 o L0 ®o @ Qo
E2 ] EF
1| [ MRE1190-500 1| [ MRF1190-500
0~15 || - 0~15 || -
Note:

¥ 1. It shows the die travel L.

175



Pre-Roller Model No. / External Dimensions Accessories Cautions ‘ {‘ K.SMEK

Overview P.151 Specifications | MRE/MRF1190 | MRE/MRF1900 | MRE/MRF2950 P.195 P.197 Harmony in Innovation

Clamp + Unit

@ Dimensions when Folded @ Machining Dimensions of Mounting Area Operation Panel
Control Unit
98 4-M12X1.75 Thread
Minimum Mounting Distance = L + 40 Depth 25 or more Die Lifter
[ “ o, S Pre-Roller
~F ”‘zti 8] T SR
OOI A I{}—M—W—}% ™ g '-E ~71 Accessories
- = | 0Ny
iR © bt — IR
Ry o) ] —— &
H E: 3 m ﬁ Cautions
JuRL D . 86 Company Profile
; MRF1190 i Push Bolt Position *3 2-10 Drill Depth 15 or more
5! H (M16X2) (Drill after Aligning Parts)
EE MRE1190 H (mm) Die Lifter
i E Die Lifter —
HEH HH - Dimension T*2 RA
Model No. Lift-Up Stroke RB
MRE and MRF can swing to both left and right. RA018/022 15 135
RA028/050
RQA028/050 2 13 MRC
RQC030/040/051 MO
Notes : MRG
%2. Dimension T should be processed according to Die Lifter MRJ/MRK

which is used with the block.
%3. Use a push bolt when the bolster thickness is 100mm or less.

600 600
L=560*1 , 140 L=560*1 140

133 101,101,101, 99 50 143 86,8686 84

—1| | MRE1190-560 —1| | MRF1190-560
0~15 0~15

<

<

670 670
L=630%T , 140 L=630%1 . 140

133 .95, 95,95_,95,.92 50 143 103103103103

—1| | MRE1190-630 —1| | MRF1190-630
0~15 0~15

< <

750 750
L=710%1 140 L=710% 140

133 111,111, 111,111,108 50 143 .. 99,9999 99 96

— 1| [MRE1190-710 — 1| [MRF1190-710
0~15 0~15

<

<

176



Pre-Roller Horizontal Folding Model

© External Dimensions : Horizontal Folding
Pre-Roller (MRE/MRF1900-[])

model MRE/MRF1900

6-Hexagonal Socket
Head Bolt (Included)

o Stopper
~ M12X1.75X35
‘ —% N With Square D
- Spring Washer ~OHD)2
[e)IN N
| A% oo
‘ 2-Spring Pin
_lles (M16X2) $10X36
View A Enlarged View of B (Front End)
(Same for both MRE and MRF)
540 540
L=500%1 . 140 L=500%1 40
134 85,85, 85,86 B (Front End) i 144 93 94 94
A0 A ] ]
1) = -~ et
? i
=== lo) © © O] _ Lock Pin Releasing Lever ot im0} © Q ©
5 B
0~15 eMRE1900-500 0~15 eMRF1900-500
600 600
L=560*1 . 140 L=560%1 , 140
134 100, 100, 100, 101 ‘ 50| . 144 .85 85 85, 86 ‘
o 4
REE 11
T ero o ) o o o o o
5 n
0~15 eMRE1900-560 0~15 eMRF1900-56O
670 670
L=630*1 . 140 L=630*1 . 140
134 .95 94,94 94 94 50| 144 103,103,103 ,102
b © o9 @ o @ oP TH@ LH{O® 9 @ @ 9
i T
‘Hla) Bl o
T o o o o o o o o
5 5
0~15 eMRE1900-630 0~15 eMRF1900-630
750 750
L=710*1 . 140 L=710%1 40
134 . 111,110,110,.110_,.110 50| 99,98 ,98 98 98
b © “Q @ xDr @ XD T@ @ 9 @ 9 @ 9
mEs T4
ﬁi Bl o
“Thato o o o TR ko o o o
5 5
0~15 eMRE1900-710 0~15 eMRF1900-710
840 840
L=800*1 . 140 L=800%1 40
134 ,107_107,107_107_,107_, 106 50| 144 97 , 97,97 97,97 .96
FLLO® Q QX Q < e LHJO® o @O0 © @O0 @
4 4
Hel O ” "ol O
1‘} Ho [) o o o L Ho o o o [e)
5 B
0~15 eMRE'|900—800 0~15 e’\/lRF1900-800

Note:
¥ 1. It shows the die travel L.

177



Cautions
P.197

Accessories
P.195

External Dimensions
MRE/MRF1190

Model No. /
Specifications

Pre-Roller
Overview P.151

MRE/MRF1900 | MRE/MRF2950 ‘{ KHar.mognm;EonK

Clamp + Unit
Operation Panel
Control Unit

@ Machining Dimensions of Mounting Area
6-M12X1.75 Thread

@ Dimensions when Folded

~ 80
Minimum Mounting Distance = L + 40 . e Depth 25 or more Die Lifter
xﬁ 4 Pre-Roller
5| S
- LN f J ' ' =l LI
gI mL o) - 2 o E 1 Accessories
= 2 2| &
:J & 2 — ==
i I - con
+—H s %3 . autions
lasl D Push Bolt Position 36 2—19 Drill De[.)th.15 Ormore  company Profile
Ei MRE1900 i (M16X%2) (Drill after Aligning Parts)
] E (mm)
il \MRE1900 H Die Lifter I Die Lifter
s Dimension T*
ﬁ E\ Model No. Lift-Up Stroke RQA
T b RA018/022 15 125 2:
RA028/050
MRE and MRF can swing to both left and right.
9 9 RQA028/050 2 12
RQC030/040/051 ~ MRC
Notes : MRD
%2. Dimension T should be processed according to Die Lifter
which is used with the block. MRG
%3. Use a push bolt when the bolster thickness is 160mm or less. MRJ/MRK
890 890
L=850*1 . 140 L=850*1 ., 140
134 ,99,99,99,99,99 99 97 50 144 106,105, 105 105__ 105105
hié @ @O0 @ o @ o @ o T & Q @ Q5
1] 4
el O ‘e
},} Ho [e) [e) o o },} Ho [e) [e) o o
- MRE1900-850 - MRF1900-850
0~15 || | MRE1900-85 0~15 || [MRF1900-85
940 940
L=900*1 ., 140 L=900*1 . 140
134 _ 106_ 106, 106, 106__106__106__105 ‘ 50 144 97 97,97 97 97 97 _ 99
14 T
dol (D g @)
1,} Ho [e) o [e) 1,} Ho [e) o [e) [e)
- MRE1900-900 - MRF1900-900
0~15 || (MRET900- 0~15 || [MRFT900-
990 990
L=950*1 , 140 L=950*1 . 140
134 . 99,99.,99,99,99_ 99,99 98 ‘ 50 144 104,104 104,104, 104,104 107
i @ o Qo @ @O @ @ @ @ @ @ @ @ < @ @ @ @
1] 1]
fel O e
% Ho o o o o o % Ho o o o o
- MRE1900-950 - MRF1900-950
0~15 || | MRE1900-95 0~15 || [MRF1900-95
1040 1040
L=1000*1 , 140 L=1000%*1 ., 140
134 _ 105_105, 105, 105__105_105_105_ 106 50| 144 112112 112 112 112112109
1] 4
I @) ®e i D oo
1., Ho o o o o o 1* Ho o o o o o
;) ;)
0~15 eMRE19OO—1000 0~15 eMRF19OO—1OOO

178



179

Pre-Roller Horizontal Folding Model model MRE/MRF2950

4-Hexagonal Socket
Head Bolt (Included)

M16X2X50

© External Dimensions : Horizontal Folding

Pre-Roller (MRE/MRF2950-[1]) 8*: With JIS Spring Washer
Stopper
[oe]
[eX/ N S p%
1 N Push Bolt / . .
\ 2-Spring Pin O @)
36 (M162) #1050
View A Enlarged View of B (Front End)
(Same for both MRE and MRF)
670 670
L=630%1 . 140 L=630*1 . 140
92.92,92,.92 9 B (Front End) 60, 145 100,100,100, 100
= A s < < .
=5 Il - R & & & & &
[[ Lock Pin Releasing Lever
[ = [ = O ©
n -]
0~15 eMRE2950-630 0~15 e'\/lRF2950-630
750 750
L=710%1 140 L=710%1 140
145 108,108,108 ,108,108 60, 145 96,96 ,96 ,9 , 96
5] "
0~15 eMRE2950—710 0~15 eMRF2950—710
840 840
L=800%1 |40 L=800% 40
145 105,105,105 ,105,105, 105 60, 145 , 95,95 95 95,95, 95
5] "
0~15 eMRE2950-800 0~15 eMRF2950-800
890 890
[ =850%1 . 140 =850 1 . 140
145 ,98 97,97 ,97 97,97 97 60, 145 ,103,103,103,103, 103,105
n -]
0~15 GMRE2950—850 0~15 GMRF2950—850
Note:

¥ 1. It shows the die travel L.



Pre-Roller Model No. / External Dimensions Accessories Cautions ‘ {‘ K.SMEK

Overview P.151 Specifications MRE/MRF1190 | MRE/MRF1900 | MRE/MRF2950 P.195 P.197 Harmony in Innovation

Clamp + Unit

@ Dimensions when Folded @ Machining Dimensions of Mounting Area Operation Panel
Control Unit
Minimum Mounting Distance = L + 50 ~ 115 4-M16X2 Thread
[ W * Depth 35 or more Die Lifter
g | D = ‘ Pre-Roller
ﬁ%l '/f'\ = T T T LT 1T Illlrﬁ j»_u 3 [an] E §,7¢\,‘}¢
&=t .;1,. HEHEFEEHE W S5 RS f .
‘--{ &_.HH I 1 e g ) =l A Accessories
[ | o0
i \— i )7 L138
Hi ] «© L — L2 Cautions
D MRF2950 T s /T ‘ 2-10 Drill Depth 15 or more Company Profile
E L] Push Bolt Position™ /| 126 |  (Drill after Aligning Parts)
ﬁ :: (M16X2)
tj MRE2950 i (mm) Die Lifter
H fi Die Lifter ‘ L
un Dimension T*2
El i Model No. Lift-Up Stroke oA
o RA018/022 15 205 *
MRE and MRF can swing to both left and right. RA028/050
RQA028/050 2 20 MRC
RQC030/040/051 MRD
Notes:
2. Dimension T should be processed according to Die Lifter MRG
which is used with the block. MRJ/MRK

%3. Use a push bolt when the bolster thickness is 245mm or less.

940 940
L=900%1 140 L=900%1 |40
145 104,104 104,104,104 104,106 60, 145 96,96 .96 96 96 96 , 94

T T T T T T T T T TT T

FEXE

| il
0~15 I MRE2950-900 0~15 I MRF2950-900
990 990
| =950%1 . 140 L=950%1 . 140

145 98 98 98 98 98 98 98 94 60, 145 103,103,103 103,103 103 102

; j 0 @ @O @ Qo @ oY p @ oY @ @ o @ )

5

Il
[&5 ¢

| il
0~15 eMRE2950-950 0~15 eMRF2950-950
1040 1040
L=1000%*1 . 140 L=1000%*1 . 140

- -
0~15 MRE2950-1000 0~15 MRF2950-1000

< <

180



Pre-Roller Removable Model (with Stand) model MRG/MRH

@ Model No. Indication : Removable Pre-Roller (with Stand)

MR G 119 0 - 710

1 B8 o

Kl Frame Storage Method

C : Removable P.153

D : Removable-Vertical Folding P.163 G

E : Horizontal Folding (Inside Arm) P.173 )
F : Horizontal Folding (Outside Arm) P.173 /
G : Removable (with Stand) P.181

J : Horizontal Folding (with Stand) (Inside Arm) P.189

K : Horizontal Folding (with Stand) (Outside Arm) P.189

Mounting Block Height (Pre-Roller Height)

119 : Mounting Block Height 119 mm L _:‘OJ
] ) , O 00 © @//-Q,'ogé) S ® 4
190 : Mounting Block Height 190 mm - ° 2 5
[ T o o ,/,/ o o % I
Mounting =
Block
Design No.

0 : Revision Number

[/] Die Travel L - Mounting Block Model No.

Dimensions : Die Travel L (Distance that the die can be pulled out) _DieTravel to Stop L |
R bl
(Please refer to the specifications) . NI P?:F?(;/ITere
B : Mounting Block °°| (with Stand)
B o o
Mounting
Block

@ Model No. Indication : Stand

MRH 040 0 - A -

o\

El Applicable Bolster Height

* When using MRG1190-[]J * When using MRG1900-[]

040 : 520 ~ 620 mm 040 : 590 ~ 690 mm

050 : 620~ 720 mm 050 : 690 ~ 790 mm | £
060 : 720 ~ 820 mm 060 : 790 ~ 890 mm — %
070 : 820 ~ 920 mm 070 : 890 ~ 990 mm Xz
080 : 920 ~ 1020 mm 080 : 990 ~ 1090 mm %
090 :1020 ~ 1120 mm 090 :1090 ~ 1190 mm S
100 :1120 ~ 1220 mm 100 :1190 ~ 1290 mm Lffl

Design No.

0 : Revision Number
181



Pre-Roller Model No. / External Dimensions Accessories Cautions ‘ {‘ K.SMEK

Overview P.151 Specifications MRG1190 MRG1900 MRH Stand P.195 P.197 Harmony in Innovation

Clamp + Unit

@ Compatible Mounting Blocks Operation Panel
Control Unit
Pre-Roller Model No. Mounting Block Model No. Mounting Block Weight (kg)
MRG1190-] MRG1190-B 37
re-Roller
MRG1900-[] MRG1900-B 7.1
) Accessories
@ Specifications : Removable Pre-Roller (with Stand)
[ J MRG1 190-|:| Cautions
. Die Travel to Stop : . N B
Model No. Weight (kg) Number of Rollers L {imi) Max. Loading Weight each (kg)*
MRG1190-710 14.8 11 710 3575
MRG1190-800 16.5 12 800 3150 Dietifter
MRG1190-850 17.5 13 850 2975 oA
MRG1190-900 18.8 14 900 2800 R
MRG1190-950 19.6 14 950 2650 R
MRG1190-1000 20.5 15 1000 2500
MRG1190-1250 25.5 19 1250 2000
MRG1190-1600 326 24 1600 1550 MRE
MRG1190-2000 40.7 30 2000 1230 MRD
_MRE/MRF
® MRG1900-0J [ MRG
. Die Travel to Stop ) ) %1 MRYMRE
Model No. Weight (kg) Number of Rollers () Max. Loading Weight each (kg)*
MRG1900-1000 29.6 15 1000 4915
MRG1900-1250 37.2 18 1250 3900
MRG1900-1600 477 24 1600 3050
MRG1900-2000 59.8 30 2000 2400
Note: Die Travel to Stop L
% 1. The maximum loading weight per pre-roller with a uniform load 2 L2
at the center of die travel L and 70 % length of the die travel L. L><17‘/10
Uniform Load
s siseE |
SO Qod @ © ©o0 o
oo
T‘Eo io o o

Applicable Bolster Height

=

@ Specifications : Stand

. Applicable Bolster Height (mm)

izdlzl e, Hietgln (el When using MRG1190-[] When using MRG1900-]
MRH0400-A 14.1 520 ~ 620 590 ~ 690
MRH0500-A 147 620 ~ 720 690 ~ 790
MRH0600-A 153 720 ~ 820 790 ~ 890
MRHO0700-A 15.9 820 ~ 920 890 ~ 990
MRH0800-A 165 920 ~ 1020 990 ~ 1090
MRH0900-A 17.1 1020 ~ 1120 1090 ~ 1190
MRH1000-A 177 1120 ~ 1220 1190 ~ 1290

Note:
1. MRG Pre-Roller does not include MRG-B Mounting Block or MRH Stand. They are sold separately.
Order by the model number and the quantity of each product.

Notes on Handling
1. MRH Stand can be used only for MRG Pre-Roller. Do not use it for any other use. (Cannot be used for MRC or MRD Pre-Roller.)
2. When setting MRH Stand, make sure it is vertical to the floor.
3. Fix MRH Stand to the floor and make sure MRG Pre-Roller is level.
4. Do not adjust bolts beyond the maximum adjusting height.

Installation Notes
1. The floor should be level.
2. The floor should be strong enough to support the maximum die weight (5.25N/mm?2).
(1) If the floor is made of concrete or mortar, set a base plate such as an iron plate in order to withstand load.
(2) When MRH Stand is set on the pit cover, set joists or poles just under the cover to support the stand.
3. MRH Stand has to be fixed to the floor.

182



Pre-Roller

Removable Model (with Stand)

model MRG1190

@ External Dimensions : Removable Pre-Roller (With Stand) (MRG1190-[1])

200

%JHHJr’HHJrPHrHﬂIH&

s |

1l
oss

750
L=710%*1 40
B (Front End)
A
<

MRG1190-710

840

L=800*1

, 140

65 65X10

778
MRG1190-800 i :
890
L=850% .40
65 63X 11 67

I
‘ 828

MRG1190-850

Note:
¥ 1. It shows the die travel L.

183

o Stopper

o o
O 0o

Enlarged View of B (Front End)

MRG1190-900

990

L=950*]

40

66Xx12 68

1040

L=1000%*1

40

65X13 65

MRG1190-1000




Pre-Roller Model No. /
Overview P.151 Specifications

External Dimensions Accessories Cautions

MRG1190 MRG1900 MRH Stand P.195 p.197 ( { KOSMEK

Harmony in Innovation

@ External Dimensions :

. . . . . cl + Unit
@ Machining Dimensions : Operation Panel
. . Control Uni
Mounting Block (MRG1190-B) Block Mounting Area e
Die Lifter
- 59.5 4-Hexagonal Socket 4-M12X1.75 Thread Pre-Roller
45 49 Head Bolt (Included) Depth 25 or more 80 o
*ﬁ“i ™ M12X1.75X70 = Accessories
B ® ‘ With Square Spring Washer D ‘ } - e
o[ 3o o
I i ‘ @ ~ » Cautions
‘ 68 115 ‘ 2-Spring Pin (Included) 2-10 Drill Depth 15 or more e Company Profile
\ w b 10X56 (Drill after Aligning Parts) 08
(mm) Die Lifter
Die Lifter . RQA
Model No. Lift-Up Stroke imension RA
RA018/022 15 13.5 RB
RA028/050
T ROA028/050 |
RQA028/050 2 13
RQC030/040/051 WRD
Note: _MRE/MRE
% 2. Dimension T should be processed according to Die Lifter m
which is used with the block. MRJ/MRK
1290
L=1250%" . 140
65, 64%17 72,
T T
1640
L=1600*1 . 140
65, 66X22 .58,
T T
2040
L=2000%1 . 140
65, 66X28 .62,
T T

MRG1190-2000

184



185

Pre-Roller Removable Model (with Stand)

model MRG1900

@ External Dimensions : Removable Pre-Roller (With Stand) (MRG1900-[)

200

R A

50 | 1
64.5
1040
L=1000*! 40
70, 65X 13 6 B (Front End)
T T
& oo A
<
0~15 978
MRG1900-1000
1290
L=1250*! . .40
70, 68X 16 .67,
T T

1228

MRG1900-1250

Note:
¥ 1. It shows the die travel L.

© Stopper

o &
O o

Enlarged View of B (Front End)



Pre-Roller Model No. / External Dimensions Accessories Cautions ‘ {‘ K.SMEK

Overview P.151 Specifications MRG1190 MRG1900

MRH Stand P.195 p.197 Harmony in Innovation

. . . - . . . Clamp * Unit
@ External Dimensions : @ Machining Dimensions : Osz:tionnl:anel
. . C | Uni
Mounting Block (MRG1900-B) Block Mounting Area ontrol Unit
6-M12X1.75 Thread Die Lifter
64.5 6-Hexagonal Socket o 80 _ Depth 25 or more Pre-Roller

49 Head Bolt (Included)

50
M12X1.75X75

With Square Spring Washer

X3
T><2

o

©

I oy Accessories
47‘: o L,‘Lg &
©
Cautions
2-10 Drill Depth 15 or more Company Profile

1 ©
s 2-Spring Pin (Included) & —  (Drill after Aligning Parts)
L_J $10X63 ' &
Push Bolt Position ™3 o
86 Die Lifter

. 40_40_

3

4
\O
(o]

Bolster Thickness

M16X2)

-
|
N

(M16X2)
RQA
(mm) RA
Die Lifter . RB
Di i T*2
Model No. Lift-Up Stroke imension
RA018/022 15 125
_ RR028/050 e
_ RQAO28/050 | 2 12 e
RQC030/040/051 @
Notes : MRJ/MRK

%2. Dimension T should be processed according to Die Lifter
which is used with the block.
%3. Use a push bolt when the bolster thickness is 160mm or less.

1640
L=1600*" | |40

70, 65x22 75,
T

|
0~15 1578

MRG1900-1600

2040

L=2000*" . 140

70 _ 66X 28

|
0~15 1978

MRG1900-2000

186



187

Pre-Roller stand (For MRG Removable Pre-Roller) model MRH
@ External Dimensions : Stand (For MRG Removable Pre-Roller)
Y @ QPP {gj 'ﬁ;:
C_) 925 0| = “ais®)
= L
/ R 3
MRG Pre-Roller 60 | ] -g, 55 3
M36 X 4 Thread =| £ b= (Width) S
TE o 2 ~| £
Adjust Bolt _— z T T 55 3
[ | b 2z - T
S © (Hexagon Width) <
| | g =2 73
T W L
- g = ]
% S d 65
o Q.
Tt + g <
E
Base Plate <
(Prepared by customer)
FL
| | | |
C 1 O 1
i ] i ]
200
170
& &
4-¢p 14 Hole
ah S
o/ -
& D
Cross Section A-A
@ External Dimension List
Applicable Bolster Height (mm) H1 (mm)
e N, When using MRG1190-J | When using MRG1900-[] ) When using MRG1190-] | When using MRG1900-[]
MRH0400-A 520 ~ 620 590 ~ 690 359
MRHO0500-A 620 ~ 720 690 ~ 790 459
MRH0600-A 720 ~ 820 790 ~ 890 559
MRH0700-A 820 ~ 920 890 ~ 990 659 119 190
MRHO0800-A 920 ~ 1020 990 ~ 1090 759
MRH0900-A 1020~ 1120 1090 ~ 1190 859
MRH1000-A 1120~ 1220 1190 ~ 1290 959




Pre-Roller Model No. / External Dimensions Accessories Cautions ‘{‘ KOSMEK

Overview P.151 Specifications MRG1190 MRG1900 MRH Stand P.195 P.197 Harmony in Innovation

Clamp + Unit

@ MEMO Operation Panel

Control Unit

Die Lifter

Pre-Roller

Accessories

Cautions
Company Profile

Die Lifter

Pre-Roller

MRC
MRD
MRE/MRF

MRJ/MRK

188



Pre-Roller Horizontal Folding Model (with Stand) model MRJ/MRK/MRL

@ Model No. Indication : Horizontal Folding Pre-Roller (with Stand)

MR J 295 0 - 800

1 B8 o

Kl Frame Storage Method

C : Removable P.153

D : Removable-Vertical Folding P.163 JK

E : Horizontal Folding (Inside Arm) P.173

F : Horizontal Folding (Outside Arm) P.173 '

G : Removable (with Stand) P.181 _ {
J ! Horizontal Folding (with Stand) (Inside Arm) P.189 -
K : Horizontal Folding (with Stand) (Outside Arm) P.189

Mounting Part Height (Pre-Roller Height)

295 : Mounting Part Height 295 mm 00 @ oQ O @ 0og o o goY ‘Qc':g é_‘_é %
o oe T
£o3
2 o=
. 3T e
H = ¢
] &
Design No.
0 : Revision Number
/] Die Travel L
Dimensions : Die Travel L Hori | Foldi
. orizontal Folding
(Distance that the die can be pulled out) < Die Travel to Stop L T Pre-Roller
(Please refer to the specifications) OO U OO0 OO OO0 TS (with Stand)
Oo
o
€ 0 C—,
[
_ o o
© Model No. Indication : Stand -

Stand

MRL 060 0 - A

! bt

El Applicable Bolster Height

060 : Applicable Bolster Height 710 ~ 810 mm OO o0 O O 000 OO OO0 O o =
070 : Applicable Bolster Height 810 ~ 910 mm 3 T E
080 : Applicable Bolster Height 910 ~ 1010 mm o
090 : Applicable Bolster Height 1010 ~ 1110 mm jJ §
100 : Applicable Bolster Height 1110 ~ 1210 mm %
110 : Applicable Bolster Height 1210 ~ 1310 mm %_
120 : Applicable Bolster Height 1310 ~ 1410 mm '7::,,_,_::th%

Design No.

0 : Revision Number

189



Pre-Roller Model No. / External Dimensions Accessories Cautions {
Overview P.151 Specifications MRJ/MRK2950 MRL Stand P.195 P.197 ‘ ‘ KOSMEK

Harmony in Innovation

_ . . . . . . Clamp * Unit
@ Specifications : Horizontal Folding Pre-Roller (with Stand) Operation Panel
Control Unit
MRJ MRK Die Travel to Stop y
; i 1
Model No. Weight (kg) | No.of Rollers; ~ Model No. | Weight (kg) | No. of Rollers L (mm) Wikse Lopdiing e it cad (] Die Lifter
MRJ2950-800 | 445 13 MRK2950-800 | 47.8 13 800 4915 FIEONSE
MRJ2950-900 47.6 15 MRK2950-900 51.2 15 900 4100
MRJ2950-1000 50.3 17 MRK2950-1000 54.0 17 1000 3550 Accessories
MRJ2950-1250 56.6 22 MRK2950-1250 60.5 22 1250 2675
3 Cautions
Note: Die Travel to Stop L Company Profile
% 1. The maximum loading weight per pre-roller with a uniform load L2 L2
at the center of die travel L and 70 % length of the die travel L. <
LX7/10 o
Uniform Load Dedfer
33333338 L RQA
[OEOEOS OO OROCOROR RO ORON RA
s : oo c
° 2 RB
T
9]
. &
: o © I
| foa) MRC
[}
= MRD
Q e
= MRE/MRF
g
2 MRG
- -2 oo
@ Specifications : Stand
Model No. Weight (kg) Applicable Bolster Height (mm)
MRL0600-A 7.7 710~ 810
MRL0700-A 83 810~910
MRL0800-A 8.9 910~1010
MRL0900-A 9.5 1010~ 1110
MRL1000-A 10.1 1110~ 1210
MRL1100-A 10.7 1210~ 1310
MRL1200-A 113 1310 ~ 1410
Notes on Handling
1. MRL Stand can be used only for MRJ and MRK Pre-Rollers. Do not use it for any other use. (Cannot be used for MRE or MRF Pre-Roller.)
2. When setting MRL Stand, make sure it is vertical to the floor.
3. Adjust MRL Stand to the floor.
4. Do not adjust bolts beyond the maximum adjusting height.
5. Do not operate a press machine when MRJ or MRK Pre-Roller is stowed on the floor with MRL Stand.
The vibration of press machine could damage the pre-roller.
Installation Notes
1. The floor should be level.
2. The floor should be strong enough to support the maximum die weight (5.25N/mm?2).
(1) If the floor is made of concrete or mortar, set a base plate such as an iron plate in order to withstand load.
(2) When MRL Stand is set on the pit cover, set joists or poles just under the cover to support the stand.
@ Folding Method
4 N 4 N
: Releasing Lever ()
@ Adjust MRL Stand to make a gap 9 -
\_ between the stand and floor. ) \@) Pull the Lock Pin Releasing Lever/ \_ ® Fold the Roller Arm )

% Can be folded to the other side as well.

190



191

Pre-Roller

© External Dimensions : Horizontal Folding
Pre-Roller (with Stand) (MRJ/MRK2950-[])

Horizontal Folding Model (with Stand)

4-Hexagonal Socket
Head Bolt (Included)

M16X2X50

model MRJ/MRK2950

S With JIS Spring Washer © Stopper
"o o
Push Bolt 2-Spring Pin (Included) O O
(M16x2) K133 $10x50
View A Enlarged View of B (Front End)
(Same for both MRJ and MRK)
o
=
Q| B
e
‘ QA F
36
840 840
L=800*" 40 =800 40
145 51515751515157515151,57,51 B (Front End) 60,145 5050505650505650505652
_gr TS A 7
3= [am)) o _[ef®] 1=
e | [ |
o | 62 62
—_— i _O o) — —
_ =
0~15 MRJ2950-800 | 0~15 | MRK2950-800 il
Lock Pin Releasing Lever é%, Lock Pin Releasing Lever E%}
940 940
L=900* . 140 L=900*" . 140

145 515151,5651515151,56515151,56,52 ‘

Note:

¥ 1. It shows the die travel L.

60._ 145 50505056505050565050505652

0~15 MRK2950-900

Lock Pin Releasing Lever

e L




Pre-Roller Model No. / External Dimensions Accessories Cautions ‘ {‘ K.SMEK

Overview P.151 Specifications MRJ/MRK2950 MRL Stand P.195 P.197 Harmony in Innovation

Clamp + Unit

@ Dimensions when Folded @ Machining Dimensions of Mounting Area Operation Panel
Control Unit
Minimum Mounting Distance = L + 50 115
r ﬁ‘ 4-M16X1.75 Thread TNl
- | o ;F_ Depth 35 or more Pre-Roller
ﬁL o) T1T T T T T Ill%&i_u g é o
S (o —HH HHHEDEEE R [ S 3l ||
HE ﬁ; e = =y — < m’*ﬁ T ¢ Accessories
ik 7£’ 1% = H‘ C T
I s i 2ls| |38
H[ N - L:l 2 Cautions
L - 15 Y & Company Profile
Ej IEJ Push Bolt Position*s/ 126 ‘ 2-10 Drill Depth 15 or more
ﬂ Q (M16%2) : ‘ (Drill after Aligning Parts) Dl Lifter
ol I I
MRJ2950 MRK2950 /11
i g sl
qop i Die Lifter . i
N }P; Q[ 4 Dimension T*2
i I Model No. Lift-Up Stroke "®
MRJ and MRK can swing to both left and right. RA018/022 15 20.5
: :
RA028/050 MRC
RQA028/050 2 20 MRD
RQC030/040/051 MRE/MRF
Notes - MRG
otes :
%2. Dimension T should be processed according to Die Lifter
which is used with the block.
%3. Use a push bolt when the bolster thickness is 245mm or less.
1040 1040
L=1000*1 40 L=1000*" 40
145 505056505050,5650505056,505050,56,56, 60, 145 5050,56,505050,56,505050,56 5050564%
T o T 900 09 900 D 0% ¢
Ak ) p— Oo
- o 0
[ - |
° |.62
— — - il
_ -
0~15 MRJ2950-1000 0~15 || MRK2950-1000 |
Lock Pin Releasing Lever é%» Lock Pin Releasing Lever JE%L
1290 1290
L=1250%*" . 140 L=1250* . 140
145 _5050505650505056505050565050505650505056 50 ‘ 60, 145 50505650505056505050,5650505056505050,5640
1= O o)) .C:O
[ I o
o
o 62
= b & > =
_ -
0~15 MRJ2950-1250 il 0~15_|| MRK2950-1250 |
Lock Pin Releasing Lever E%L Lock Pin Releasing Lever é%

192



193

Pre-Roller stand (For MRJ/MRK Horizontal Folding Pre-Roller)

@ External Dimensions : Stand (For MRJ/MRK Horizontal Folding Pre-Roller)

model MRL

[ DA R A A A A DA R T 4-Hexagonal Socket
NVAANPANVANVANVENVIRNPESY b Head Bolt (Included)
ol w2 di.Ln M8X 1.25X25
1 N — r With JIS Spring Washer/
|eie] -H Flat Washer
-------------- g _ [¢65] =
T o £ g
[=)] ©
MRJ/MRK Pre-Roller M36x4 o @ § ;
Thread —| % | &
Adjust Bolt ] < o| g
= =)
¢73] = N
i
n £ \
x 2 § 65 i §
= LB A A
| .y < u o s
it : o 2 <& / \ —
I e N
— = m,
185 ) )
A% 2
147 2 2 L
Q <
T 2 Cross Section A-A
Q =
=
Q
<
Base Plate
(Prepared by customer)
FL L || '&ﬂ‘
¢ 100

@ External Dimension List

Model No. Applicable Bolster Height (mm) H (mm)
MRL0600-A 710~ 810 550
MRL0700-A 810~910 650
MRL0800-A 910~ 1010 750
MRL0900-A 1010~ 1110 850
MRL1000-A 1110~ 1210 950
MRL1100-A 1210~ 1310 1050
MRL1200-A 1310 ~ 1410 1150




Pre-Roller Model No. / External Dimensions Accessories Cautions ‘{‘ KOSMEK

Overview P.151 Specifications MRJ/MRK2950 MRL Stand P.195 P.197 Harmony in Innovation

Clamp + Unit

@ MEMO Operation Panel

Control Unit

Die Lifter

Pre-Roller

Accessories

Cautions
Company Profile

Die Lifter
RQA
RA
RB

Pre-Roller

MRC
MRD
MRE/MRF
MRG

MRJ/MRK

194



Pre-Roller Accessories model MRC-S/MRC-E

@ Accessory : Spacer Block
When using Pre-Roller and Die Lifter together and setting pipe lines of Die Lifter on the Pre-Roller side (die loading side),
the spacer block can provide space for pipe lines between the bolster and Pre-Roller.

® Model No. Indication
MR C 119 0 - S

1 BB

[l Compatible Pre-Roller

C : For Removable Pre-Roller (MRC/MRD/MRG)

E : ForHorizontal Folding Pre-Roller (MRE/MRF/MRJ/MRK)
Compatible Pre-Roller Height

075 : Compatible Pre-Roller Height 75 mm 190 : Compatible Pre-Roller Height 190 mm
119 : Compatible Pre-Roller Height 119 mm 295 : Compatible Pre-Roller Height 295 mm
150 : Compatible Pre-Roller Height 150 mm

Design No.

0 : Revision Number

® External Dimensions

Moo oo || [ ] L T
Bolster
Die Lifter Spacer Block Pre-Roller
a o (0] o (0] %
¢ 00 0 :3
[} fai =
£ S () |z
O o
Z o S © o
R \ &
- Mounting Block
50mm
Spacer Block Model No. Compatible Pre-Roller Model No. Mounting Block Model No.* '
MRC0750-[] MRC0750-B
MRC0750-5 MRD0750-[] MRDO0750-B
MRC1190-[] MRC1190-B
MRC1190-S MRD1190-[] MRD1190-B
MRG1190-[] MRG1190-B
MRC1500-[] MRC1500-B
MRC1500-5 MRD1500-[] MRD1500-B
MRC1900-[] MRC1900-B
MRC1900-S MRD1900-[] MRD1900-B
MRG1900-[] MRG1900-B
MRE1190-[]
MRE1190-S MRF1190-0]
MRE1900-[]
MRE1900-S MRF1900-]
MRE2950-[]
MRF2950-[]
MRE2950-S MRJ2950-C]
MRK2950-[]

Notes :
% 1. Horizontal folding pre-roller (MRE, MRF, MRJ and MRK) is a united type of pre-roller and mounting block, thus mounting block is included.
1. The option of die lifter should be G : pin specifications and hose fitting should be mounted directly to die lifter.
When using pipe nipple, be careful with the length of pipe nipple and the mounting point of die lifter.
2. Bolster thickness should be thicker than the spacer block.
195



Pre-Roller - Cautions ‘{‘ K.SMEK

Overview P.151 P.197 Harmony in Innovation

Clamp + Unit

@Accessory . End Plate Operation Panel
Control Unit
When using Pre-Roller and Die Lifter together and setting pipe lines of Die Lifter on the opposite side of Pre-Roller
(die loading side), the end plate prevents Die Lifter from coming out of the bolster to the pre-roller side.

® Model No. Indication

MRC 119 0 - E

Cautions
Company Profile

Compatible Pre-Roller Height

Accessories

Die Lifter
075 : Compatible Pre-Roller Height 75 mm RQA
119 : Compatible Pre-Roller Height 119 mm z:
150 : Compatible Pre-Roller Height 150 mm o
190 : Compatible Pre-Roller Height 190 mm

Design No.

0 : Revision Number

® External Dimensions

n
=
moooooo || ] LI T
1
§u)
Bolster
Die Lifter End Plate Pre-Roller A
B
/ % r—j‘ BES
o o [S) o OO O .%% g g "
T 5
3} Wi
) 2017
O o Ye |
"\ Mounting Block .
23mm || Mounting Block G- 14 Hole

End Plate Model No. |  Pre-Roller Model No.*? | Mounting Block Model No.*2 | A B C D
MRC0750-[] MRCO0750-B

MRC0730-E MRD0750-C] MRD0750-B Sl A AT
MRC1190-[] MRC1190-B

MRC1190-E MRD1190-[] MRD1190-B 115 | 80 | 119 @ 13
MRG1190-[] MRG1190-B
MRC1500-[] MRC1500-B

MRC1500-E MRD1500-0] MRD1500-B 115 | 80 | 150 @ 13
MRC1900-[] MRC1900-B

MRC1900-E MRD1900-[] MRD1900-B 115 | 80 | 190 @ 12
MRG1900-[] MRG1900-B

Note :
%2. End plate can be used for mounting block of removable pre-roller (MRC/MRD/MRG).
Horizontal folding pre-roller (MRE/MRF/MRJ/MRK) does not require end plate, because the mounting block part works as end plate.

196



Pre-Roller cautions model MRC/MRD/MRE/MRF/MRG/MRJ/MRK

@© Cautions
@ Notes for Design @ Installation Notes
1) Check Specifications 1) Mounting the Block
® Please use each product according to its specifications. @ Set the block to the bolster end with attached mounting bolts.
@ Mount Pre-Roller and use shims to level the roller surface.
2) Check the Die Weight (3 With Die Lifter inside the bolster in the lift-up position, adjust
@ Make sure the die weight is less than the maximum loading weight. the position of the mounting block so that the top of the rollers
on Die Lifter and Pre-Roller are level and then perform the final
3) Check the Die Dimensions tightening of the mounting bolts.
® Make sure that the length of the die from front to back is at least Model No. Mounting Bolt Size Tightening Torque (N-m)
twice as long as the distance between the first roller of the die lifter __MROO0750 |
(closest to the pre-roller) and the last roller of the pre-roller (closest % M12X1.75 98
to the die lifter). ~ MR1900 |
If the length of the die is less than double the distance between MRLI2950 M16x2 200
rollers, die loading will not be smooth, and it could result in % If rollers are not set in the bolster, adjust the roller surface
damage to the die and the product. of the pre-roller to be level with the bolster surface.

@ Be sure to position the block with a spring pin.
Without a spring pin, the pre-roller could be misaligned, and

Distance the die could fall off the rollers.
between Rollers

Length of Die from Front to Back

Mounting Bolt

Die Lifter Pre-Roller
B EEENCEECEENCECES O O o Hole for
Positioning
o
) C ) Spring Pin
Bolster
— Shim

2) Level Adjustment
@ Use shims to adjust the front end roller (roller A) of Pre-Roller
to be approximately 2mm higher than the bolster surface.

Roller A

About
2mm

Level

Adjusting Shim

3) Mounting the Hook (MRD Roller Only)

@ Align the pin of the hook with the pin hole on the block and
mount the hook with the attached mounting bolt.

Tightening Torque of Mounting Bolt

Model No. Mounting Bolt Size Tightening Torque (N-m)
MRD0750 M10X 1.5 50

MRD1190

MRD1500 M12X1.75 98

MRD1900

Mounting Bolt

Pin Hole

Hook

Pin Hole Mounting Bolt

Hook Mounted
197



Pre-Roller
Overview P.151

P.195

@ Notes on Handling

1) The product should be operated by qualified personnel.
2) Pre-Roller should not be used for purposes other than die changes.
3) Only use dies that weigh less than the maximum loading weight.

4) Stow Pre-Roller away during press machine operation.

@ Fold or remove Pre-Roller during press machine operation.
If a press machine is operated with Pre-Roller in place, Pre-Roller
could be damaged by vibration.

5) Check the Stopper
® If a die is moved with the stopper released, the die could fall and
cause an injury, so always make sure the stopper is set before use.

Stopper

6) Do not exceed the maximum die lowering speed.

® When placing a die on Pre-Roller, lower it at a speed of 50mm/sec
or less. If it is done too fast Pre-Roller may be damaged and cause
an injury.

7) Do not exceed the maximum die moving speed.
® When moving a die, do not exceed 100mm/sec in order to prevent

damage to the stopper.

8) Do not let your hand off from Pre-Roller when folding the frame.

@ Never let your hand off from Pre-Roller when removing or folding it.

Otherwise, Pre-Roller may be damaged leading to an injury.

9) Check the Lock Pin (In case of MRE/MRF/MRJ/MRK)
@ Make sure the lock pin is engaged during die loading and press
machine operation.

10) Secure the Stand (In case of MRG/MRJ/MRK)
@ Make sure the stand is fixed to the floor during die loading.

11) Do not pour water or oil over the product.
® Failure to do so causes malfunctions and deterioration of
the product leading to an accident.

Accessories

Cautions

(Y xKeSMEK

Harmony in Innovation

® Maintenance / Inspection

1) Removal of Product

® Before removing the product, make sure that safety devices
and preventive devices are in place.

® Make sure there is no trouble/issue in the bolts and respective
parts before restarting.

2) Make sure that the rollers move smoothly and do not make
noises.

3) Please contact us for overhaul and repairs.

4) Make sure that the stopper returns to the normal position with
the spring force.

5) Make sure that when setting the stopper at the release position,
the stopper can keep the same position.

6) Check the mounting bolts of the block regularly and tighten
them as needed.

7) Check the mounting bolts of the hook regularly and tighten
them as needed. (MRD only)

8) When using a push bolt, make sure there is no space between
the push bolt and the press machine.

% Please refer to P.207 for common caution.

- Notes on Handling

+ Maintenance / Inspection * Warranty

Clamp + Unit
Operation Panel
Control Unit

Die Lifter

Pre-Roller

Accessories

Cautions
Company Profile

Die Lifter
RQA
RA
RB

Pre-Roller

MRC

MRJ/MRK

198



207

Cautions

© Cautions

@ Installation Notes (Cautions for Hydraulic Series)

1) Check the Usable Fluid
® Please use the appropriate fluid by referring to the Hydraulic Fluid List.
® |[f viscosity grade of hydraulic oil is higher than I1SO-VG-32,
action time becomes longer.
® If using it at low temperature, action time will be longer because
the viscosity of hydraulic oil becomes higher.

2) Procedure before Piping

@ Pipelines, piping connectors and others should be cleaned by
thorough flushing.

® Dust and cutting chips in the circuit may lead to fluid leakage
and malfunction.

® Our products except some valves are not equipped with protective
function that prevents contamination.

3) Applying Sealing Tape

® Wrap with tape 1 to 2 times following the screw direction.

@ Pieces of the sealing tape can lead to fluid leakage and malfunction.

® Please implement piping construction in a clear environment to
prevent anything getting in products.

4) Air Bleeding of the Hydraulic Circuit

@ If the hydraulic circuit has excessive air, the action time may become
very long. If air enters the circuit after connecting the hydraulic port
or under the condition of no air in the oil tank, please perform
the following steps.

@ Reduce hydraulic pressure to less than 2MPa.

@ Loosen the cap nut of pipe fitting closest to the clamp, RQA/RA Die
Lifter by one full turn.

3 Shake the pipeline to loosen the outlet of pipe fitting.
Hydraulic fluid mixed with air comes out.

GA Clamp

@ Tighten the cap nut after air bleeding.

® Itis more effective to release air at the highest point inside
the circuit or at the end of the circuit.

5) Checking Looseness and Retightening
@ At the beginning of the machine installation, the bolt and nut may
be tightened lightly. Check the looseness and re-tighten as required.

@ Hydraulic Fluid List

ISO Viscosity Grade 1SO-VG-32

Maker Anti-Wear Hydraulic Oil | Multi-Purpose Hydraulic Oil
Showa Shell Sekiyu Tellus S2 M 32 Morlina S2 B 32
Idemitsu Kosan Daphne Hydraulic Fluid 32 | Daphne Super Multi Oil 32
JX Nippon Oil & Energy Super Hyrando 32 Super Mulpus DX 32
Cosmo Oil Cosmo Hydro AW32 | Cosmo New Mighty Super 32
ExxonMobil Mobil DTE 24 Mobil DTE 24 Light
Matsumura Oil Hydol AW-32
Castrol Hyspin AWS 32

Note : Please contact manufacturers when customers require products in the list above.



Installation Notes Hydraulic Notes on Hyd. Cylinder
(For Hydraulic Series) Fluid List Speed Control Unit

@® Notes on Hydraulic Cylinder Speed Control Unit

Notes on Maintenance / Warranty {‘ KOSMEK

Handling Inspection Harmony in Innovation

Clamp + Unit
Operation Panel
Control Unit

Die Lifter
Pre-Roller

é Please pay attention to the cautions below. Design the hydraulic circuit for controlling the action speed of hydraulic cylinder.

Improper circuit design may lead to malfunctions and damages. Please review the circuit design in advance.

@ Flow Control Circuit for Single Acting Cylinder
For spring return single-acting cylinders, restricting flow
during release can extremely slow down or disrupt release action.
The preferred method is to control the flow during the lock action
using a valve that has free-flow in the release direction.
It is also preferred to provide a flow control valve at each actuator.

2w %L@

Accelerated clamping speed by excessive hydraulic flow to
the cylinder may sustain damage. In this case add flow control to
regulate flow.

Flow Control at the Release Side

:""Z"-: B—
Gl = ¢

[ 3_ |L,

® Flow Control Circuit for Double-Acting Cylinder
Flow control circuit for double-acting cylinder should have meter-out
circuits for both the lock and release sides. Meter-in control can
have adverse effect by presence of air in the system.

[Meter-out Circuit]

= ==
ok

A X

@

[Meter-in Circuit]

A X

Accessories

In the case of meter-out circuit, the hydraulic circuit should
be designed with the following points. Cautions
. . . Company Profile
@ Single-acting components should not be used in the same
flow control circuit as the double acting components.
The release action of the single-acting cylinders may become
erratic or very slow.

— |
oF |

'II X | W Inspection

Warranty

Notes on Hyd
Speed Control Umt

Notes on
Handling

[

®

. R . . Company Profile
Refer to the following circuit when both the single-acting companyTIoTe
Our Products

cylinder and double-acting cylinder are used together. T
Company Profile

O Separate the control circuit. :
History

g8 B

A X X

[ [

®

=

O Reduce the influence of double-acting cylinder control unit.
However, due to the back pressure in tank line, single-acting
cylinder is activated after double-acting cylinder works.

— |
T

X}

[N

®

-~

@ In the case of meter-out circuit, the inner circuit pressure may
increase during the cylinder action because of the fluid supply.
The increase of the inner circuit pressure can be prevented by
reducing the supplied fluid beforehand via the flow control valve.
Especially when using sequence valve or pressure switches for
clamping detection. If the back pressure is more than the set
pressure then the system will not work as it is designed to.

==

Sequence Valve

e
-~

o¥
¢

K

Flow Control Valve
(Any location is OK)

® 208



209

Cautions
T

@ Cautions

@ Notes on Handling

1) It should be operated by qualified personnel.
® Hydraulic products, machines and devices should be operated
and maintained by qualified personnel.

2) Do not operate or remove the product unless the safety protocols
are ensured.

@ The machine and equipment can only be inspected or prepared
when it is confirmed that the safety devices are in place.

@ Before the product is removed, make sure that the above-mentioned
safety devices are in place. Shut off the pressure and power source,
and make sure no pressure exists in the hydraulic and air circuits.

(3 After stopping the product, do not remove until the temperature
drops.

@ Make sure there is no abnormality in the bolts and respective parts
before restarting the machine or equipment.

3) Do not touch a clamp (cylinder) while it is working.
Otherwise, your hands may be injured.

X
"
B

4) Do not disassemble or modify.

@ |If the product is taken apart or modified, the warranty will be
voided even within the warranty period.

® Maintenance - Inspection

1)

Removal of the Product and Shut-off of Pressure Source

® Before removing the product, make sure that safety devices

are in place. Shut off the pressure and power source, and make
sure no pressure exists in the air and hydraulic circuits.

® Make sure there is no abnormality in the bolts and respective

2)

parts before restarting.

Regularly clean the area around the product.

® Ifitis used when the surface is contaminated with dirt, it may

lead to packing seal damage, malfunctioning and fluid leakage.
—
= O vsIei

X O

If disconnecting by couplers, air bleeding should be carried out
on a regular basis to avoid air mixed in the circuit.

Regularly tighten bolts, pipe line, mounting bolt, nut, snap ring,
cylinder and others to ensure proper use.

Make sure the hydraulic fluid has not deteriorated.
Make sure there is a smooth action without an irregular noise.
Especially when it is restarted after left unused for a long period,

make sure it can be operated correctly.

The products should be stored in the cool and dark place
without direct sunshine or moisture.

Please contact us for overhaul and repair.



Installation Notes Hydraulic Notes on Hyd. Cylinder
(For Hydraulic Series) Fluid List Speed Control Unit

® Warranty

1) Warranty Period
® The product warranty period is 18 months from shipment from
our factory or 12 months from initial use, whichever is earlier.

2) Warranty Scope

® If the product is damaged or malfunctions during the warranty
period due to faulty design, materials or workmanship, we will
replace or repair the defective part at our expense.
Defects or failures caused by the following are not covered.

@ If the stipulated maintenance and inspection are not carried out.

@ If the product is used while it is not suitable for use based on
the operator’s judgment, resulting in defect.

@ Ifitis used or operated in an inappropriate way by the operator.
(Including damage caused by the misconduct of the third party.)

@ If the defect is caused by reasons other than our responsibility.

® If repair or modifications are carried out by anyone other than Kosmek,
or without our approval and confirmation, it will void warranty.

® Other caused by natural disasters or calamities not attributable to
our company.

@ Parts or replacement expenses due to parts consumption and
deterioration.
(Such as rubber, plastic, seal material and some electric components.)

Damages excluding from direct result of a product defect shall be
excluded from the warranty.

Maintenance / Warranty ‘{‘ K.SMEK

Inspection

Harmony in Innovation

Clamp + Unit
Operation Panel
Control Unit

Die Lifter
Pre-Roller

Accessories

Cautions

Company Profile

Installation Notes
(For Hyd. Series)

Hydraulic
Fluid List

Notes on Hyd. Cylinder
Speed Control Unit

H
M

Warranty

Company Profile
Our Products
Company Profile
History

Sales Offices

210



Company Profile
I —m—r———————————m—m——

KOSMEK LTD. Head Office

Company Name KOSMEK LTD.

Established May 1986

Capital ¥99,000,000

Chairman & CEO Tsutomu Shirakawa

President & CEO Koji Kimura

Employee Count 270

Group Company KOSMEK LTD.
KOSMEK ENGINEERING LTD.
KOSMEK (USA) LTD.
KOSMEK EUROPE GmbH
KOSMEK (CHINA) LTD.
KOSMEK LTD. - INDIA

Business Fields Design, Production and Sales of Precision Products, and Hydraulic and Pneumatic Equipment
Customers Manufacturers of Automobiles, Industrial Machinery, Semiconductors and Electric Appliances
Banks Resona Bank and Bank of Tokyo-Mitsubishi UFJ

Major Industrial Property Rights
(Including Patent Right and Patent Pending as of March 2022)
+ Domestic 1120

* International : 250 (USA, EU, Taiwan, South Korea, China, India, Brazil, Mexico, Thailand, Indonesia)

225



([ K@SMEK

Harmony in Innovation

Clamp + Unit
Operation Panel
Control Unit

Product Line-Up

Die Lifter
Pre-Roller

QUICK DIE CHANGE SYSTEMS Accessories

For Press Machines

Cautions

Kosmek Quick Die Change Systems are a cost effective tool Company Profile

to improve the working environment, allow diversified and

small-lot production, and reduce press down time.

. . . . Cautions
Available for a wide range of machines; from large size

. Installation Notes
transfer-presses to smaller high speed presses. (For Hyd. Series)

Hydraulic
Fluid List

Notes on Hyd. Cylinder
Speed Control Unit

Notes on
Handling

QUICK MOLD CHANGE SYSTEMS Maenance
For Injection Molding Machines Inspection
Warranty

Automatic clamping systems have reduced mold change times
and increased production efficiency for plastics manufacturers

in a multitude of industries. Our Products

- . ) S : C Profil
We offer a variety of different clamping options, including

. . . Histo
hydraulically powered clamps, pneumatic clamps with a force oy

Sales Offices
multiplying mechanism, and magnetic clamping systems.

DIECAST CLAMPING SYSTEMS

For Diecast Machines

Kosmek Diecast Clamping Systems (KDCS) save the time of
the changeover of die casting and magnesium molding
machines under severe conditions. ex) mold release agents
and high temperature.

KOSMEK WORK CLAMPING SYSTEMS

Machine Tool Related Products

Our clamping system enables boltless automation to load and
unload workpieces easier.

Non-leak valve enables the use of hydraulic source and fixtures
in a disconnected condition after locking (clamping action).

We offer a wide range of products such as hydraulic/pneumatic
actuators, supports, positioning equipment, valves, couplers, etc.

KOSMEK FACTORY AUTOMATION SYSTEMS
FA - Industrial Robot Related Products
KOSMEK robotic hand changer, robotic hand, positioning
equipment and other products improve automation,

precision and setup of transfer, assembly, deburring,
testing and various other processes.

226



Harmony in Innovation

Company Profile ((K@SMEK

Sales Offices

Sales Offices across the World

Japan KOSMEK LTD. TEL. +81-78-991-5162 FAX.+81-78-991-8787
HEAD OFFICE 1-5, 2-chome, Murotani, Nishi-ku, Kobe-city, Hyogo, Japan 651-2241
KOSMEK (USA) LTD. TEL. +1-630-620-7650 FAX. +1-630-620-9015
USA Overseas Affiliate 650 Springer Drive, Lombard, IL 60148 USA
OSMEK (USA) LTD. Atianta Branch Offce 1 - +17708-577-3275
303 Perimeter Center North, Suite 300, Atlanta, GA 30346 USA
TEL. +52-1-55-3044-
Mexico KOSMEK (USA) LTD. Mexico Branch Office > >5-3044-9983
Av. Santa Fe 103, Int. 59, col. Santa Fe Juriquilla, Queretaro, QRO, 76230, Mexico
Europe KOSMEK EUROPE GmbH TEL. +43-463-287587 FAX. +43-463-287587-20
P Overseas Affiliate Schleppeplatz 2 9020 Klagenfurt am Worthersee Austria
KOSMEK (CHINA) LTD. TEL.+86-21-54253000 FAX.+86-21-54253709
Overseas Affiliate Room601, RIVERSIDE PYRAMID No.55, Lane21, Pusan Rd, Pudong Shanghai 200125, China
_ KOSMEK (CHINA) LTD. Dongguan Office  TEL.+86-769-85300880
China Overseas Affiliate (Sales Office) Room301, AcerBuilding No.15, Dezheng(W)Road, Changan Town Dongguan Guangdong 523843, PR China
KOSMEK (CHINA) LTD. Wuhan Office  TEL.+86-27-59822303
Overseas Affiliate (Sales Office) Room502, Building A, Jingkai Future City, Zhuankou Economic Development Zone, Wuhan City, Hubei Province, 430050 China
India KOSMEK LTD. - INDIA TEL. +91-9880561695
Branch 4A/0ld No:649, Ground Floor, 4th D cross, MM Layout, Kavalbyrasandra, RT Nagar, Bangalore -560032 India
Thailand KOSMEK Thailand Representative Office TEL. +66-2-300-5132 FAX. +66-2-300-5133
Representative Office 67 Soi 58, RAMA 9 Rd., Phatthanakan, Suanluang, Bangkok 10250, Thailand
Taiwan FULL LIFE TRADING CO., LTD.  TEL.+886-2-82261860 FAX.+886-2-82261890
Taiwan Exclusive Distributor 16F-4, No.2, Jian Ba Rd., Zhonghe District, New Taipei City Taiwan 23511
Philippines G.ET. Inc, Phil. TEL.+63-2-310-7286 FAX. +63-2-310-7286
Philippines Exclusive Distributor Victoria Wave Special Economic Zone Mt. Apo Building, Brgy. 186, North Caloocan City, Metro Manila, Philippines 1427
Indonesia  PT- Yamata Machinery TEL. +62-21-29628607 FAX.+62-21-29628608

Indonesia Exclusive Distributor

Delta Commercial Park |, JI. Kenari Raya B-08, Desa Jayamukti Kec. Cikarang Pusat Kab. Bekasi 17530 Indonesia

Sales Offices in Japan

Head Office TEL. 078-991-5162 FAX. 078-991-8787

Osaka Sales Office

Overseas Sales 1-5, 2-chome, Murotani, Nishi-ku, Kobe-city, Hyogo, 651-2241, Japan
TEL. 048-652-8839 FAX. 048-652-8828

Tokyo Sales Office
81, 4-chome, Onari-cho, Kita-ku, Saitama City, Saitama, 331-0815, Japan

N ) TEL. 0566-74-8778 FAX. 0566-74-8808

agoya Sales Office
10-1, 2-chome, Misono-cho, Anjo City, Aichi, 446-0076, Japan
TEL. 092-433-0424 FAX.092-433-0426

Fukuoka Sales Office
8-10-101, 1-chome, Kamimuta, Hakata-ku, Fukuoka City, Fukuoka, 812-0006, Japan

229



Global Network

@® Overseas Affiliates and Sales Offices
@® Distributors

"-------------,
°
°
°
>
n
o

Australia

Asia Detailed Map

India .

Thailand
° o0

Malaysia
® Singapore

)
Indonesia

([ K@SMEK

Harmony in Innovation

@ FOR FURTHER INFORMATION ON UNLISTED SPECIFICATIONS AND SIZES, PLEASE CALL US.
@ SPECIFICATIONS IN THIS CATALOG ARE SUBJECT TO CHANGE WITHOUT NOTICE.

Canada
U.S.A. ©®
)

Mexico

® Brazil

Korea

o0 Japan

® Taiwan

® Philippines

JQA-QMAL0823
KOSMEK HEAD OFFICE

230



